Service a la clientéle: 1 800 463-1611
Customer service: 1 855 459-1954

ROUILLARD GUIDE D'INSTALLATION

INSTALLATION GUIDE

TABLE TRIPLE AVEC PIETEMENT MITOYEN /
TRIPLE TABLE WITH SHARED LEGS
29" Haut / High (29M)




Pieces & quincailleries - Parts & hardware

Instructions

QUINCAILLERIE
70 X VIS 1/4-20 X 3/4" TETE PLATE

HARDWARE
70 X SCREW 1/4-20 X 3/4" FLAT HEAD

ETAPE 1: COLLEZ LES TABLES ENSEMBLES.
ETAPE 2: FIXEZ LES 4 PATTES MITOYENNES A LA STRUCTURE AVEC LES VIS 1/4-20 X 3/4" TETE PLATE.

ETAPE 3: FIXEZ LES 4 PATTES A LA STRUCTURE AVEC LES VIS 1/4-20 X 3/4" TETE PLATE.

STEP 1: PUT THE TABLES TOGETHER.
STEP 2: FIX THE 4 SHARED LEG WITH 1/4-20 X 3/4" FLAT HEAD SCREW.

STEP 3: SCREW THE 4 LEGS TO THE STRUCTURE WITH 1/4-20 X 3/4" FLAT HEAD SCREW.

IMPORTANT: Assurez-vous de mettre le beau c6té du pietement
(sans rainure) vers l'extérieur

Make sure to place the legs with the smooth side
(without groove) outward.




